Meyer Hydraulics Corporation

MANUFACTURING FORTABLE HYDRAULIC LIFTING EQUIPMERT FOR THE 213t CENTLURY

TTJ-DH Drivetrain Handler

Parts List August 30, 2004
6b 5b
g 4 Adjustment Arm Assembly : ﬁﬂ
d 4d ‘ 5e = 54
6a — 4b— / \ —4b __5a

~ I

5¢
5 Right Channel Slide Assembly

6¢
6 Left Channel Slide Assembly

4a

/ \

\4e/ -

gc\;t/ :

2 Slide Post 3 Yoke Retainer Assembly 2 Slide Post




Parts List

No. | Part No. Description #/Unit
1 8750 Storage Box (not shown) 1
2 TTJDH-A Slide Post 4
3 TTJDH-FA Yoke Retainer Assembly (complete) 1
3a TTJDH-F Yoke Retainer 1
3b TTJDH-E Yoke Retainer Screw 1
3c 6080 1" NC Hex Nut 2
3d 6660 1" SAE Flat Washer 2

6390 3/4" x 1-1/2" NC HH Bolt (not shown) 1

6640 374" Split Lock Washer (not shown) 1
4 TTJDH-GA Adjustment Arm Assembly (complete) 2
4a TTJDH-G Adjustment Arm 2
4b 6620 7/16" USS Flat Washer 6
4c 6625 172" USS Flat Washer 2
4d 6030 7/16" NC Hex Nut 2
4e 6035 172" NC Hex Nut 2
4f 6288 7/16" x 4-1/2" NC HH Bolt 2
4g JCMS-9 Spacer 2
5 TTJDH-BA Right Channel Slide Assembly (complete) 1
5a TTJDH-B Right Channel Slide 1

6610 3/8" SAE Flat Washer (not shown) 4

6617 378" Split Lock Washer (not shown) 2

6025 3/8" NC Hex Nut (not shown) 4
5b 7832 174" Link Chain 48" Long 2
5¢ 6870 1/2" x 3-1/2" Cotterless Hitch Pin 2
5d TTJDH-D Chain Tension Bolt 2
5e 6861 5/16" x 1-1/2" Cotterless Pin 2
5f 6070 3/4" NC Hex Nut 2
6 TTJDH-CA Left Channel Slide Assembly (complete) 1
6a TTJDH-CA Left Channel Slide 1

6610 Flat Washer (not shown) 4

6617 Lock Washer (not shown) 2

6025 Chain Retainer Nut (not shown) 4
6b 7832 174" Link Chain 48" Long 2
6¢ 6870 1/2" x 3-1/2" Cotterless Hitch Pin 2
6d TTJDH-D Chain Tension Bolt 2
6e 6861 5/16" x 1-1/2" Cotterless Pin 2
6f 6070 3/4" NC Hex Nut 2




